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DETAILED EXPLANATIONS

1. (b)
According to central limit theorem, if there are various activities in a project network which follow

B-distribution of frequency, then entire project is assumed to follow normal distribution of
frequency.

So, the distribution curve for the time taken to complete each activity of a project resembles a
B-distribution curve and distribution curve for the time taken to complete entire project in general
resembles a normal distribution curve.

2. (d)

In ladder network, the duration will be the sum of duration of activity having maximum duration

1 . . s i
and — of the sum of durations of remaining activities, where ‘n” is the number of equal sub-parts.
n

Modified total duration = 50+ %(10 +5+35+10) =62 days

3 (b)
Range of project duration = (Minimum time, maximum time)
Minimum time = T, - 30 = 25.6 days (1)
Maximum time = T+ 36 = 60.4 days ...(id)
From (i) and (ii)
2T, = 86
T, = 43 days

Note:
Normal range of the project duration

(T, - o) to (T, + o)
(T - 30) to (T + 30)

Maximum range of the project duration

4, (a)

[5]o51] [1417]1784)
@ 8.33 /5\ 7 5

|

| D

[o]o] <

The expected duration of the project is 34.67 days.
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5. (o)
Probability of completion of project on 20" day = (Probability of completion in 20 days) - (Probability
of completion in 19 days)

Probability of completion in 20 days = 50%
For probability of completion in 19 days,
19-20 1
= =-—=-033
z 3 3

100 - 63.33 = 36.67%
50 - 36.67 =13.33%

Probability of completion in 19 days
Probability of completion on 20" day

6. (d)

|8|18| |23|24| |29‘29‘

For activity 2 - 6,

|8 |18 |23]24]
EST =8 EFT=8+6=14

LST=24-6=18 LFT =24
Total float (F;) = 18 -8 =24 -14 =10
Free float (F;) = F,- Slack at head event
10-1=9
Fp - Slack at tail event
9-(10)=-1
Interfering float (Fj,) = F;-F,=10-9=1

Independent float (Fp)
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7. (b)
By sum of years digit method, depreciation at the end of m'" year
[(n—m+1]
D, = nn+1) (€ -C)
2
[(5—m+1] 6-m
= | 56+1) (12000 —2000) = (?) x 10000
L 2
End of Rate of Depreciation Total Book
year (m)| depreciation | peryear (Rs.) | depreciation (Rs.) | value (Rs.)
0 _ - - 12000
1 1—55 x 10000 3333 3333 8667
2 % x 10000 2667 6000 6000
8. (9
Effective drawbar pull = Available drawbar pull - Rolling resistance
t Grade resistance [upgrade (-); downgrade (+)]
= 2000 = Available pull - (45 x 12) - (%x 12000)
= Available pull = 2780 kg

While operating on level surface with rolling resistance of 75 kg/tonne,
Effective drawbar pull = 2780 - (75 x 12) = 1880 kg

11.  (c)
From water balance equation

Inflow - Outflow

d
— (St
dt( orage)

ds
At maximum storage, E =0
= Inflow = Outflow
12.  (c)
For a catchment, runoff coefficient is constant
C = —R.ur‘loff' =5= Constant
Precipitation P
R _ R
T X
2 _R
= 24 16
= R, = 8 mm
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13. (d)
Average method of rainfall measurement is useful when rain gauges are evenly distributed.
15. (a)
1
EXQP x T x3600 = C, x0.01
= %x250><36x3600 = C,x001
= C, = 1620 km?
16. (b)
A
Q, = 2.778><5
2
= 2778 x% = 208.35 m?/s
17. (%)
P(cm) 3 1
t(hr) 0-2 2-4
i(cm/hr) 1.5 0.5

For, ¢ <i = Runoff =0
P, =3cm, t,=2cm

P,-R
o=
3-R
15 = —
- 2
= R = 0cm
18. (d)
Risk = 1-4"
where, q = 1 - p
= q = 1—%
1 n
Risk = 1—( —?)
19. (b)
As per Sir Inglis formula
0 - 124A
VvA+10.4
124x5.6  124x5.6 3
= = =173.6 m”/s
- Q Vv5.6+10.4 4 /
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20. (d)
n = Total number of available discharges
= Order / rank of observation (discharges)
n
1. California formula, T, = —
m
2. Hazen’s formul T, = —
. azen’'s formula, r = m_05
n+1
3.  Weibull's formula, T, = -
n
4. Gumbel’s formula, T, =
m+c-1
(c = Gumbel’s correction)
21.  (c)
The basic principles followed in slope-area method is
1. Area of flow is known.
2. Velocity of flow is evaluated using Manning’s equation.
3. Water surface slope is observed.
4. Manning's n is known.
22. (c)
C,+C+C, =1
= G =1-C-¢C,
=1-045-0.7=-0.15
23. (a)
. : . Na" 33
Sodium absorption ratio (SAR) = = =165
Ca'* +Mg*™* \/4.4 +3.6
2 2
For SAR between : 10 to 18,
Water is classified as medium sodium water [S2]
For electrical conductivity between 750 to 2250 micro-mhos/cm,
Water is classified as high salinity water [C3]
24. (d)
Given, Field capacity = 23%
G, = 1.63
d =06m, Q=80m3 hour
4 = Yy dx[FC—M]

w
w
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Here, M = 03 xF.C.
= 0.3 x0.23 = 0.069
d, = G,-d-[FC-M]
= 1.63 x 0.6 x [0.23 - 0.069]
= 0.157 m = 157 mm
Time required (f) = A.reax dy _ 35X265%0.157 18.2 hours
Discharge 80
25. (d)

* A ridge canal is aligned along a watershed and it can command area on both banks.
* A canal aligned nearly parallel to the contours of the area is called a contour canal. The contour
canal can irrigate only on one side.

26. (<)
Leaching requirement [L,] = Lo _ L
R Ecd ZEce
= 12 x100=5%
2x12
D D;-D
Also, Ly (%) = —&10 = =€ %100
D i
D; -75
= — %100
= 5 D,
= 5D, = 100D, - 7500
= D, = 78.947 mm =79 mm
28. (c)
15 |
Y v
114.1 Canal
— 113.9
=L = N
Drain 105.4
Bed level of canal = 114.1 m
Fully supply level of canal = 114.1 + 0.9 =115 m
Bed level of drain = 105.4 m

High flood level of drainage = 105.4 + 8.5 =113.9 m
As bed level of canal is at higher level than the high flood level of drainage, so aqueduct is the
structure to be adopted.

ocopyright: [MADE ERASY www.madeeasy.in



20

ESE 2023 Prelims Exam e Classroom Test Series MADE EASY

29.

30.

31.

32.

33.

()

2x8+3+6+10x2
16 +9+20=45m
Head causing flow, H = 4.5 m

H 45
L 45

C

Length of creep (L))

1in10

Hydraulic gradient, ‘i’

()

Resisting shear against movement of particle (1), is given as

T. = 0.056y,-d (S, -1)
= 0.056 x 9.81 x 0.005 [2.7 - 1]
= 4.6 x 10 kN/m?
(d)
B
Duty [D] = 8.64><Z
Here, B = Transplantation period = 15 days
A = Depth of irrigation water actually applied in the field
= 60-10 =50 cm
D = Duty on field in ha/cumec
8.64 x15
D = ——— =259.2 ha/cumec

0.5
Now, losses in canal are 10% which means 1 cumec of water discharged at the head of water
course will be reduced to 0.9 cumec at the head of the field and hence will irrigate
259.2 x 0.9 = 233.28 he/cumec.
Hence the duty of water at the head of distributary is 233.28 he/cumec

()
H 200 —100

1 : = = =70.7 m

For no tension to be developed: B J5-c 2i-0a
For dam to be safe in sliding;: B = ——"=

M[S c C]

_ 2007100 7143 m=714m

0.7[2.4-0.4]

The value of B chosen should be greater of the above two values i.e.
B =714m

(c)
Channel is flowing through a material which can be scoured as easily as it can be deposited.
Such soil is known as incoherent alluvium.
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34.

35.

36.

37.

38.

39.

(b)
2

57/

_ VZx5 (1.2 x5
e T

As per Lacey’s theory, Vv

1.2

(d)

Khanna’s module outlet is rigid module outlet.

(@)

*  While preparing network diagram, we concentrate mainly on technological constraints (like
one activity cannot start until the other is over etc.), and assume that the resources are unlimited.

* In most of the real-life projects we have resource constraints.

* A number of methods have been developed to solve this problem. These methods can broadly
be classified under two categories: (i) Resource leveling, (ii) Resource smoothing

()

%
Qo

Discharge

Time

From graph,
o<t
= Q> Qo
(a)
Rainfall records of float type and weighing bucket type gauges give plot of mass curve of rainfall.
Slope of mass curve gives rainfall intensity at different intervals.

a
fE:it gradient as per Khosla’s theory,
. H_ 1
Ed ol
{where H = head causing flow, d = length of downstream pile}
when, d=20
G; = Infinite

Thus a downstream pile is a must for preventing piping failure.
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40. (c)
Silt excluder is a preventive measure while silt extractor is a curative measure.
41. (d)
Refer IS 800 : 2007 Clause 10.3.6
42, (d)
Refer IS 800 : 2007 Clause 10.5.7.3
43. (d)
Column AB:
End Translation Rotation
A Free Restrained
B Restrained Restrained
A J
B | ]
4. (d)
S
fy
A
fCC
f.; = Design compressive strength
f, = Yield stress
A = Non-dimension effective slenderness ratio
f.. = Euler’s buckling stress
45. (0

Effective slenderness ratio of the laced column is increased by 5 percent.

kL L
(—J = 1.05% (k—]
To laced column To column
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47. (o)
fub
= —" —[2xA
Vaso = 3x125 (240
- 400 [2>< 0.78 xEx162] N =57.95 kN = 58 kN
J3x1.25 4
48. (b)
Angle between fusion faces k
60° - 90° 0.7
91° -100° 0.65
101° - 106° 0.6
107° - 113° 0.55
49. (c)
Refer IS 800 : 2007, Table 3
50. (%)
Net section rupture, T,, = 094, Ju
my
[ |
| |
| |
|
O\ SO | 2
~ |
e
|
|
|
|
1-1: A, = (100 + 75 + 50 - 20) x 10 = 2050 mm?
502 )
2-1: A = 1100+75+50-20x2+ x10=1933.33 mm
" 4x75
A, = 1933.33 mm?
T, = 09 19??:3 x410 N =570.719 kN =570.72 kN
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51.

52.

53.

(b)

5
48°26"10” +48°26"12” + 48°26"14” + 48°26'16” + 48°26"18”
5

0>+ +@")*  [40
1 - \/; =10

Number of observations

Most probable value, ‘X’

48° 26" 14”7
\/(_4”)2 + (_2//)2

+
Standard deviation ‘o’ 5

10
Standard error of mean % = % =2=141

(b)
Let the correct length be ‘L’
In AABD,

L

= B - z

Correction = True value - Measured value A D
_ L
L-L, c

JI2,-h* -L,

(b)

Reference line on map marked as 5 cm now measuring 4.95 cm indicates that map has shrunk.
Also the chain used was 20 cm too short.

Scale (s) : 10 m to 1 cm

Measured area = 94.03 cm?
5 \2
Considering shrinkage of map, area = 94.03><(E)
o . . ~ 5 ) (198) _ )
Considering error in chain length, true area on map = 94.03 x 195 X ) 94.03 cm

True area on ground = True area on map x S?
94.03 x 10 x 10 = 9403 m?
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25

54. (d)
Let length of line be ‘I’ m
Latitude, lcos® = 578 m
Departure, I'sin® = -100 m

As latitude is positive and departure is negative, line lies in N-W quadrant.
N(+)

W.C.B. = Whole circle bearing

0
W E()
wes
S¢)

Dividing, we get

100
tan0® = —— =173

57.8
(Dont consider (-) sign as we have already located the position of line)
0 = 60°
Whole circle bearing = 360° - 60° = 300°
55. (b)
Presently Initially
N .
MN MN
. Line's location
1045 | &
w
358°15
MS MS

S

True bearing of line = 1°45" + 358°15" = 360°
Now the magnetic meridian has moved 3°30" towards west,
So, inclination of magnetic meridian = 3°30" - 1°45" W = 1°45" W

So, Current magnetic bearing = 1°45

©cCopyright: MMIADE ERSY www.madeeasy.in



26 ESE 2023 Prelims Exam e Classroom Test Series MADE EASY
56. (d)
Distance, d = 3.855Vh km (i i sin metres)
Consider height of light house as H.
4m 4, d, H
d, +d, = 23.13 km (given)
Also, d, = 3.855vJ4 =771 mand d,= 3.855VH
Substituting values
3.855VH = 23.13-7.71
15.42
- VH = 3g55
= H = 16m
57. ()

Main scale is divided into degrees and each degree into 6 parts.
60’

=10’ (value of 1 main scale division)

Least count, L.C. = 20"

Let, y=nsox=n-1
(n - 1 divisions of main scale coincide with 7 divisions of vernier scale)
m
LC = —
n
10
= 20" =
n
10" x 60
= =30"
= n 20"
So, x =n-1=29andy =30

29 divisions of main scale coincide with 30 divisions of vernier scale.
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58. (d)
Let “S’ be the staff intercept in deviated position and S;, S,, and S, be the cross-hair reading on the
staff as it is considered initially that staff was normal so horizontal distance ‘D" measured is given
by
D = KScos6 +S,sin6
But actually the staff was deviated by an angle ‘o
Correct horizontal distance ‘D is computed as below:

S, Sy and S, are the
correct cross-hair readings

Correct staff intercept = AB = S cos o

and S, = S, cosa
So, D, = KS cos 0. cos 6 + S, cos o sin 6
= D cos o
Error = Measured value - True value
= D -D cos o
= D(1 - cos o)
59. (d)
Ceiling
2.85m
¥
1.45m
L_
Floor
(RL - 105.4 m)

R.L of floor + 1.45 + 2.85
1054 +1.45 +2.85=109.7 m

R.L of ceiling
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60.

61.

62.

63.

(b)

The adjustments in transit theodolite are of two types:

1. Permanent adjustment

2. Temporary adjustment

The permanent adjustments are made to establish the fixed relationships between the fundamental
line of the instrument and once made, they last for a long time. These include

Adjustment of the horizontal plate levels.

Collimination adjustment.

Horizontal axis adjustment.

Adjustment of the telescope level

g e

Vertical circle index adjustment

The temporary adjustments are made at each setup of the instrument before taking readings.
These includes

1. Setting up of theodolite over the station

2. Levelling up the theodolite

3. Elimination of parallax

4. Focusing

(b)
Least count of Surveyor’s compass is 15 minutes and needle used is of edge bar type.
For prismatic compass, needle used is of broad type and its least count is 30 minutes.

(a)
f.. = Elastic critical stress
For low slenderness ratio, f,. will be very high

E
fu= 7
NOW’ Gac = O6ﬁj€fy 1/n
() +(£)")
(f)">> (f,)"
06f.f,

GﬂC

o "

Failure stress depends on yield stress only.
(d)
Anallactic lens is a convex lens, provided between the eye piece and the object glass at a fixed
distance from the object glass. It is provided to make the additive constant equal to zero.
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64. (b)
n Y
\ 0 Plane A (say)
Gyl / / M1
Plane B (say) — o,
0

¢ The new axes (x;, y,) are normal to the planes in which the stresses are to be determined.
* O, acts on plane A.

* Angle between plane A and the vertical will be same as the angle between their normals.

Oy, = 1,8in26 Plane A 3
y
A
=T, (2 sin B cos B) 4 G/ o4
*1
= 26><2><§><é _ﬁi___
5 5 9

G, = 24.96 MPa

65. (b)
2
T = (@) +40? 40 MPa
max 2
= +50% +40° 4" "7100 MPa
= 144100
= #1041 MPa
66. (b)
Solid circular shaft,
2
Torsional strain energy per unit volume = Z‘éx

Hollow circular shaft,

Torsional strain energy per unit volume =

ocopyright: [MADE ERASY www.madeeasy.in
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67. (d)
a \/Ea
a
Note: B
h
68. (b) :

Parabolic

Shear force carried by the element

But T =

d3
= [
24 16 192)

6V((24-8-12+1)d° | 5V
& 192 32

Note: Shear-stress distribution in rectangular section

www.madeeasy.in
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V Ay
T B el S
d
57Y
A = bx(é—y) _/1/ Mz )
2 7] I
d d —p-———-+t-Lr—
I 1 TR NN )
y =Y 2(2 y) A
o Lz_l(L )
= Y= 4772 +
o
V)
d 1(d
Vxbl -y |z 2+
o (2 y)z(z y)
= 3
%Xb
12
_ V(4o
- E)
Similarly shear-stress distribution in circular cross-section
4v 2 2
= R —
3 V)
N - - A

where R is radius of the circular cross-section.

69. (a)
Maximum principal stress theory,

o, < (%)

Let the area of the bolt be “x’ mm?

8000
Normal stress on the bolt = — N/mm?
3000
Shear stress on the bolt = 7 N/mm?
, o 4000  |(4000)* . (3000’
Maximum principal stress, o1 = + . + .

©cCopyright: MMIADE ERSY www.madeeasy.in
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_ 4000 5000
= 17 Ty x
9000 270
= =
X 3
= x = 100 mm?
T2
T2 o
1 100
20
= d= —
Jn
70. () g
F =0
5 o f g
= RB_q_ =0
2 My T T
L
. o - qL R,=0 RB:%
B 2
| | L |
By moment equilibrium ' k ' 2 '
gL qL(SL)
ATy ) =0
2 2 2
_ 4k 5aln _ ql”
- M, 2 8 8
q
<AE By | . L
|
LZ
i b
o
2 | L
| L 5 | ! ,
2 12 _Iy
Ezd—Z T S AL /NS (Gl
dx 8 2 2
2 3
A L. NS (¢l S
dx 8 4 6
dy
At,x=0 Slope, T =0, = (=
> gL -Ly
A . LSRR (Gt
dx 8 6
At x= Y
t,x= 5 dx ~ °¢C
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> (3L gL(L\? L\
on - 2434
s\ 2) al2) 62
3qL° gr® gr®
= ——
= EI6 16 16 48
_(9+3-1)g  7q0
N ET6, = e ST
7913
0. =
48E]
71.  (d)
P
A I B>M
| L | L |
I 2 T 2 1
8y = 0
L 2
P(z) (3L_£) ML’
= 6EI 2) T 2E
5P ML
= A8EI  2EI
. = 5PL
24
2
p(L
. o 2) ML
ope, = &/
P B 2EI | EI
o - P’ 5P
= B~ 8FI  24FI
o - PI?
= B~ 12EI
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72. (a)
Free body diagram of CDE:
M. =0
= Px2bh = Ryxb
= R, = 2P
Free body diagram of ABC:
A B C
e
P Fg P
2
Fs :%P
XM, =0
= Px3b = Fox2b
= F, = %P

Total strain energy (U)

u

BC

uAB

uspring

Total strain energy (U)

= Uyp + Upc+ Ucp+ Upp + U,

b 2
(Px)“dx
= Uep=Upe= I‘)‘ 2E]

o OEI

2EI\ 3

P2 (3 T P23

of1  SEI| 3

0

1 1
= EXFS ><Aspring = b

p \2
zf(zx) dx P_2(x3 )21;
0

—XFx—= = =X

(g)Z Xﬁ_ 9P2b3
2 EI  8EI

P2\ P® 9P*p®  47P%°
6EI 3EI  8EI

oU  47x2Pxb’ 47Pp’

oP  24El

47 Pp®
12E1

"~ 12EI
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fe— 1O | = —f— N | = —]

Pcr XA = BR(e) + BR(26)

= Pr(39)

onoft)

Since the transformation equations are derived solely from equilibrium of an element, they are
applicable to stresses in any kind of material, whether linear or non-linear, elastic or inelastic.

73. (o)
= P, x % x0
=

74. (d)

75. (d)

In a pressurized cylinder

Circumferential stress 6, =

Longitudinal stress o,

O

PD
2t
PD
4t
= 20

2

A longitudinal welded seam must be twice as strong as a circumferential seam.

0000

ocopyright: MMIADE ERSY

www.madeeasy.in




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




